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Reminder from meeting 13

 Document GRBIG 13.008 (Germany)

— “The OICA method allows vehicles to become more
noisy in the future compared to the current method”

Overview of allowances

12
@ Difference OICA_limit_curves atn_old_eff - (Limit_old +1.5 dB)
10 + T T . @
‘ average = 3.5dB
8 ® ...
e ®
® 0 o
<
g L
b ®e
— ' .
; - ® e 47 M1 vehicles from ASEP database
= 4 Y 6] with manual fransmission and resultsfor |
a ® ® ECE R51-02, anchor pointfor OICA
® method is Lwot_i, slopes are max/min
@ slopes. L_old (ECE R51-02) was
9 & calculated fromthe OICA limit curves
® ‘ for2. and 3. or 3. gear only,
@ ® Limit_old+1.5 dB was subtracted. ®
The average difference is 3.6 dB.
‘ .“ L] The possibility to increase the noise
0 emission with ECE r51-03 and OICA- I
e ASEP increases with increasing power
L) to mass ratio.
o @
0 50 100 150 200 250
power to mass ratio in kWit

Figure 9 16



Reminder from meeting 13

 Document GRBIG 13.008 (Germany)
— Vehicle 200-14

— “The sound behavior of vehicle 200-14 is obviously tuned for the current
method”

— “Most likely the tuning measures for vehicle 200-14 can be skipped for
the new annex 3 and the OICA ASEP method”

Results for vehicle 200-14 (pmr = 166)
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Explanation of figure for those who
did not attend meeting 13

o Type approval value is exactly on the current limit
(75 + allowance)
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Explanation of figure for those who
did not attend meeting 13

* The actual noise emission exceeds what was expected out of the
type approval, due to non linear behavior (tuning measures)
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Explanation of figure for those who
did not attend meeting 13

« The Annex 3 test is a one gear test due to the 2 m/s? limit
 The Annex 3 result L, ., meets the foreseen limit value of 73
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Explanation of figure for those who
did not attend meeting 13

 The foreseen ASEP limit exceeds significantly the noise
emission which is expected on the base of R51.02
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Explanation of figure for those who
did not attend meeting 13

o Under operating conditions of R51.02, the ASEP limit will
be 10 dB(A) higher compared to R51.02
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Explanation of figure for those who
did not attend meeting 13

» |tis feared that the current sound design measures will disappear in
future and that the noise emission will increase over the entire range
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Question to the group:
How to solve the potential increase?
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